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Write the slope-intercept form of an equation that passes through the given point and is perpendicular to the graph

‘f the equation.

20. (2,-2).y=—5x+1""° (j_

21. (3,6),3x + 2y = 14

\
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Determine whether the graph shows a positive correlation, a negative correlation, or no correlation. If thereis a
positive or negative correlation, describe its meaning in the situation.
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Determine whether each situation illustrates a correlation only, a correlation and causation, or neither.

. 23. A store owner finds there is a positive correlation between the number of candy bars sold and boxes of oatmeal
sold in a month.
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Find the inverse of each function.

24. f(x) =2x-10 f“lOA =3%x +30

3
25, f(x) = 4x +3 (U = lf{_ o5

Solve the inequality. Graph the solution on a number line..

26. x — 4 < 10 ¥ < |4
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27.-122+6 = ‘S_"—l W—\————L%'
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Solve the inequality.

28. 5x > 25 29. é sy

A= ¢ p=l2

30.32x+ 1) < 6x + 3

N > So‘bbh Otn

31. 8 4+ 10b < 6(0.5x — 1)

o T
Solve the compound inequality and graph the solution set.
32.4=p—-8andp-14 <2 33.y+5=9o0ry+4<-5
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Solve the given inequality.
34 |[p—2| <8 35.lp—2|>6
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Graph each inequality on a coordinate plane.

36. 3 2x—4

37.y<%x+1

Find the inverse of each relation.

38. {(1,3),(-2,5),(0,-7),(—14,-3)}

§ (3,1 (57 (-7,0) -3,-14)3
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